Name::

L1S2

- (LCM - Polynomials)

Find the least common multiple.

1) 5w5 20W(W> +w - 4) 2) 13(p°-pq-r1)26(r+q), 4(p>-pg-r)

LCM = LCM =

3) 22b8Cd(—5C3d+7b)2, oL 4.2 A\ (A3 A2 /4, c\l..l3_2)8

PREVIEW

LCM =

Gain complete access to the largest

°) 7aBa"+2)(a+7) 1Ueollection of worksheets in all subjects!ff’™ ™-"+"

LCM =

7)  10g°h*(g + h), 15g°h" (35 + 5)* §°
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LCM = LCM =
9)  (-tu+3)° (-tu+3)° (-tu+3) 10) 8z, 24y°z(-4x® - 17yZ’)°
LCM = LCM =

N

Printable Math Worksheets @ www.mathworksheets4kids.com



